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DIRECTIONS 

Read each question carefully. For a multiple-choice question, determine the 

best answer to the question from the four answer choices provided. For a 

griddable question, determine the best answer to the question. Then fill in the 

answer on your answer document. 

1 The drawing shows four lines through a figure. Three of the lines are lines of 
symmetry. 
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2 Kendrick used bags of dirt in a garden of roses and bags of dirt in a

garden of wildflowers. Which equation can be used to find the number of bags of 

dirt Kendrick used? 

4 5 9 1 19
+ + + = 

8 8 8 8 8 
F 

 

 

 

9 10 19
+ = 

8 8 16 
G

20 9 5
+ = 3

8 8 8 
H

5 1 6
4 + +9 +  = 13

8 8 8 
J

3 The number of movie tickets sold at a theater last year can be written in 
expanded notation, as shown. 

(8 × 100,000) + (6 × 1,000) 

What is this number written in standard form? 

A 

 

 

 

860,000 

B 86,000 

C 806,000 

D 8,006,000 
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6 On which number line is point X located 



7





11 A large envelope contains only $5 bills. The total value of the $5 bills is $2,435. 

Which equation can be used to find the number of $5 bills in the envelope? 

A 

 

 

 

2,435 ÷ 5 = 487 

B 2,435 × 5 = 12,175 

C 2,435 + 5 = 2,440 

D 2,435 - 5 = 2,430 

12 Ray GH has been drawn on the protractor, as shown. 

-

protractor, 



13 The list shows the lengths in centimeters of some toy boats. The length of one 
toy boat is missing. 

5, 5, 6, 10, 8, 5, 

The toy boat that   of the is boats.Thethe Theboat ofboat the length of the toy boat of the list
missing.



14 The width of a 



16 Ms. Lanford buys and sells used clothes. Ms. Lanford bought a dress, a sweater, 
and shorts  



19 There are 1,150 baseball cards that will be sorted into bags. Each bag holds 
5 baseball cards. 

How many bags are needed for all the baseball cards? 

A 

 

 

 

23 

B 230 

C 1,145 

D 5,750 

20 The model is shaded to represent a is 20





23 An orchestra had 8 performances. There were 2,464 tickets sold for each 
performance. 

What was the total number of tickets sold for all 8 performances? 

A 

 

 

 

16,282 

B 38 

C 308 

D 19,712 

24 Della wrote a number: 

• The digit in the hundredths place is a 

https://27,389.04
https://537,106.24


25 The shaded parts of the model represent the combined fraction of a small pie that 

2

9 
Darrell and Nani ate. Darrell ate of the pie. 

What fraction of the pie did Nani eat? 

5

9 
A 

 

 

 

3

9 
B

2

9 
C

4

9 
D
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Garden 

30 ft 

25 ft 

26 Harrison has a rectangular garden in his backyard. The dimensions are shown in 
feet. 



28 This chart shows four comparisons. 

W 
8 

12 
8 

< 
10 

X 
8 

12 
4 

< 
6 

Y 
8 

12 
9 

< 
12 

Z 
8 

12 
6 

< 
8 

Which of these comparisons are true? 

F Only W 

G Only X and Z 

H Only W, Y, and Z 

J None of these 

29 A customer bought almonds and walnuts at a grocery store. 

• The customer bought 1 pound 15 ounces of almonds. 

• The customer also bought 3 pounds 4 ounces of walnuts. 

What is the total amount of almonds and walnuts in pounds and ounces that the 

customer bought? 

A 

 

 

 

4 lb 3 oz  

B 5 lb 9 oz  

C 4 lb 11 oz  

D 5 lb 3 oz  

 



30 Paul threw a baseball 18.7 meters. Which fraction is equivalent to 18.7? 

F 

 

 

 

7
18 

100 

G
18 
70 

7
18 

10 
H

187

100 
J
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-

33 A group of figures is shown. 

T W X Y Z 

Which list shows all the figures in the group that appear to have at least one right 
angle? 

A Figures T, W, and Y only 

B Figures T, W, and Z only 

C Figures T and Z only 

D Figures X and Z only 

34 The table shows a relationship between input numbers and output numbers. 

Number Machine 

Input Output 

1 10 

2 11 

3 12 

4 13 

Which rule can be used to find the output number when the input number is 
given? 

F - 9 

G × 10 

H × 4 

J + 9 

BE SURE YOU HAVE RECORDED ALL OF YOUR ANSWERS 
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ON THE ANSWER DOCUMENT. STOP 
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